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Seven people P, Q, R, S, T, U, and V have to attend a seminar on seven
different days of the same week starting from Monday and ending on
Sunday, but not necessarily in the same order. Q attends a seminar on
Thursday. Only one person attends the seminar between Rand S. U
attends the seminar after S. Only one person attends the seminar
between Q and V. The number of people who attend the seminar
before P is same as the number of people who attend the seminar after
R. P attends the seminar immediately after V.
P,Q,R,S, T, U3 vVaAH® A1 al%a'zﬂ & TH g Hodg &
WATR ¥ IRH g gt 3 a1 qAa
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Seven people P, Q, R, S, T, U, and V have to attend a seminar on seven
different days of the same week starting from Monday and ending on
Sunday, but not necessarily in the same order. Q attends a seminar on
Thursday. Only one person attends the seminar between Rand S. U
attends the seminar after S. Only one person attends the seminar
between Q and V. The number of people who attend the seminar
before P is same as the number of people who attend the seminar after
R. P attends the seminar immediately after V.

On which of the following days does T have to attend the seminar?

1. Sunday

2. Monday

3. Tuesday

4. Wednesday

5. Friday
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Live Quiz
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Seven people P, Q, R, S, T, U, and V have to attend a seminar on seven
different days of the same week starting from Monday and ending on
Sunday, but not necessarily in the same order. Q attends a seminar on
Thursday. Only one person attends the seminar between Rand S. U
attends the seminar after S. Only one person attends the seminar
between Q and V. The number of people who attend the seminar
before P is same as the number of people who attend the seminar after
R. P attends the seminar immediately after V.

Who among the following has to attend the seminar on Saturday?

1.U
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Seven people P, Q, R, S, T, U, and V have to attend a seminar on seven
different days of the same week starting from Monday and ending on
Sunday, but not necessarily in the same order. Q attends a seminar on
Thursday. Only one person attends the seminar between Rand S. U
attends the seminar after S. Only one person attends the seminar
between Q and V. The number of people who attend the seminar
before P is same as the number of people who attend the seminar after
R. P attends the seminar immediately after V.

If every person is made to attend the seminar in alphabetical order
from Monday to Sunday, the day of attending the seminar of how many
people will remain unchanged?

1. None

2. One

3. Two

4. Three

5. Four
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Seven people P, Q, R, S, T, U, and V have to attend a seminar on seven
different days of the same week starting from Monday and ending on
Sunday, but not necessarily in the same order. Q attends a seminar on
Thursday. Only one person attends the seminar between Rand S. U
attends the seminar after S. Only one person attends the seminar
between Q and V. The number of people who attend the seminar
before P is same as the number of people who attend the seminar after
R. P attends the seminar immediately after V.

On which of the following days does S have to attend the seminar?

1. Monday

2. Tuesday

3. Wednesday

4. Thursday

5. Friday
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Seven people P, Q, R, S, T, U, and V have to attend a seminar on seven
different days of the same week starting from Monday and ending on
Sunday, but not necessarily in the same order. Q attends a seminar on
Thursday. Only one person attends the seminar between Rand S. U
attends the seminar after S. Only one person attends the seminar
between Q and V. The number of people who attend the seminar
before P is same as the number of people who attend the seminar after
R. P attends the seminar immediately after V.

Who among the following has to attend the seminar on Saturday?
1. T

)
Twnec<
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Statement:

Only a few books are reading
All readings are general.
Conclusion:

l. All books are general.
1. Some general are reading.

a. Only | follows

b. Only Il follows

c. Either 1 or Il follows

d. Neither I nor Il follows
e. Both | and Il follow



Statement:

Only a few woods are trees

Only a few woods are stems.

Conclusion:

l. Some stems are trees is a possibility.
Il. Some stems are tree.

a. Only | follows

b. Only Il follows

c. Either 1 or Il follows

d. Neither I nor Il follows
e. Both | and Il follow

4 @Reasoningbybasantsir



Statement:

All jungles are parks

All parks are lake.

Only a few lakes are rivers .

Conclusion:

l. All jungles are lakes.

1. Some rivers are parks is a possibility.

a. Only | follows

b. Only Il follows

c. Either 1 or Il follows

d. Neither | nor Il follows
e. Both | and Il follow

4 @Reasoningbybasantsir
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Statement:

No centers are venues

All places are venues

No places are laboratory.
Conclusion:

l. No places are centers.

1. No center are laboratory.

a. Only | follows

b. Only Il follows

c. Either 1 or Il follows

d. Neither | nor Il follows
e. Both | and Il follow
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Statement:

Some guns are steel

All steels are iron

All iron is silver.

Conclusion:

l. All guns are silver

1. Some guns are not silver.

a. Only | follows

b. Only Il follows

c. Either | or Il follows

d. Neither | nor Il follows
e. Both | and Il follow
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Nine personsi.e. A, B, C, D, E, F, G, H and J are sitting in
a circular table but not necessarily in same order. All are
facing towards center. A sit 2nd to the right of B. F sits
4th to the left of A. Two persons sit between Cand F. G
is immediate neighbor of J. G sits 2nd to the right of H.
D sits 2nd to the left of E. E is not an immediate

f
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Nine personsi.e. A, B, C, D, E, F, G, H and J are sitting in
a circular table but not necessarily in same order. All are
facing towards center. A sit 2nd to the right of B. F sits
4th to the left of A. Two persons sit between Cand F. G
is immediate neighbor of J. G sits 2nd to the right of H.
D sits 2nd to the left of E. E is not an immediate
neighbor of A.

Who among the following person sits 3rd to the right of
E?

1. B
2. A
3. C
4. F
5. None of these
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Nine personsi.e. A, B, C, D, E, F, G, H and J are sitting in
a circular table but not necessarily in same order. All are
facing towards center. A sit 2nd to the right of B. F sits
4th to the left of A. Two persons sit between Cand F. G
is immediate neighbor of J. G sits 2nd to the right of H.
D sits 2nd to the left of E. E is not an immediate
neighbor of A.

How many persons sit between E and F?

Two

One

Three

None

More than three

S
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Nine personsi.e. A, B, C, D, E, F, G, H and J are sitting in
a circular table but not necessarily in same order. All are
facing towards center. A sit 2nd to the right of B. F sits
4th to the left of A. Two persons sit between Cand F. G
is immediate neighbor of J. G sits 2nd to the right of H.
D sits 2nd to the left of E. E is not an immediate
neighbor of A.

Who among the following person sits exactly between C
and E?

T Y
MO P>W

none of these
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Nine personsi.e. A, B, C, D, E, F, G, H and J are sitting in
a circular table but not necessarily in same order. All are
facing towards center. A sit 2nd to the right of B. F sits
4th to the left of A. Two persons sit between Cand F. G
is immediate neighbor of J. G sits 2nd to the right of H.
D sits 2nd to the left of E. E is not an immediate
neighbor of A.

Who among the following person sits immediate right
of A?

1. B
2. C
3. D
4. G
5. N

one of these
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Nine personsi.e. A, B, C, D, E, F, G, H and J are sitting in
a circular table but not necessarily in same order. All are
facing towards center. A sit 2nd to the right of B. F sits
4th to the left of A. Two persons sit between Cand F. G
is immediate neighbor of J. G sits 2nd to the right of H.
D sits 2nd to the left of E. E is not an immediate
neighbor of A.

Four of the following five are alike in certain way based
from a group, find the one which does not belong to

that group?
1. E-C
2. B-F
3. D-J
4. A-C
5. C-H

> . -
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Five boxes i.e., D, E, F, G and H of different colors i.e., Red, Green,
Pink, Blue and Black are arranged one above another but not
necessarily in same order. Three boxes are placed between D and
the Red colored box. There are as many boxes above E as below F,
which is Blue colored. Green colored box is placed just above G
and just below H. D is placed above the black colored box.

g f3sa 37UTT D, E, F, G 3 H ASAM-37e19T T & § AT
Afther ST aTgt fF 58 e & @fl D3R o Tr ¥ e

¥ AET dieT f3ed I@ 1T | EF I 3o a4 § st F
& o g, I At W FT 8l g WM & Bsa #1 6F S+
F9T 3 HEF & A T@T TAT &1 DF! FTer W & Bea &
FT IQT 94T g
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Five boxes i.e., D, E, F, G and H of different colors i.e., Red, Green,
Pink, Blue and Black are arranged one above another but not
necessarily in same order. Three boxes are placed between D and
the Red colored box. There are as many boxes above E as below F,
which is Blue colored. Green colored box is placed just above G
and just below H. D is placed above the black colored box.

Which among the following box is Pink colored?

(a) D
(b) E
(c)G
(d)H
(e) None of these

«7 @Reasoningbybasantsir
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Five boxes i.e., D, E, F, G and H of different colors i.e., Red, Green,
Pink, Blue and Black are arranged one above another but not
necessarily in same order. Three boxes are placed between D and
the Red colored box. There are as many boxes above E as below F,
which is Blue colored. Green colored box is placed just above G
and just below H. D is placed above the black colored box.

How many boxes gap are between D and F?

(a) None

(b) One

(c) Two

(d) Three

(e) None of these
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Five boxes i.e., D, E, F, G and H of different colors i.e., Red, Green,
Pink, Blue and Black are arranged one above another but not
necessarily in same order. Three boxes are placed between D and
the Red colored box. There are as many boxes above E as below F,
which is Blue colored. Green colored box is placed just above G
and just below H. D is placed above the black colored box.

Which of the following is the color of box H?

(a) Green

(b) Black

(c) Pink

(d) Red

(e) None of these

] @Reasoningbybasantsir
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Five boxes i.e., D, E, F, G and H of different colors i.e., Red, Green,
Pink, Blue and Black are arranged one above another but not
necessarily in same order. Three boxes are placed between D and
the Red colored box. There are as many boxes above E as below F,
which is Blue colored. Green colored box is placed just above G
and just below H. D is placed above the black colored box.

Which of the following box is in topmost position?

(a) Green colored box
(b) Red colored box
(c) Pink colored box
(d) Black colored box
(e) None of these

> . -
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Five boxes i.e., D, E, F, G and H of different colors i.e., Red, Green,
Pink, Blue and Black are arranged one above another but not
necessarily in same order. Three boxes are placed between D and
the Red colored box. There are as many boxes above E as below F,
which is Blue colored. Green colored box is placed just above G
and just below H. D is placed above the black colored box.

Four of the following five are alike in certain way based

from a group, find the one which does not belong to that

group?

(a) D-Blue
(b) E-Black
(c) F-Red
(d) G-Green
(e) H-Blue

<7<7 @Reasoningbybasantsir
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There are six personsi.e. A, L, M, K, O and P of different
heights. No two persons have same heights. Only two
persons are shorter than M. A is taller than L. L is not
the shortest. K is taller than L but shorter than A. O is
just taller than P. O is shorter than K.

B8 died AT A, L M, K, 0 3T P 39T-37eAT
mﬁﬂ:%lﬁ»—é’raﬁa’r—ama?rmm
M#B’I‘E%lAL#aﬁT%I
LY % & AT BIeT

|
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There are six personsi.e. A, L, M, K, O and P of different
heights. No two persons have same heights. Only two
persons are shorter than M. A is taller than L. L is not
the shortest. K is taller than L but shorter than A. O is
just taller than P. O is shorter than K.

Who among the following is tallest?

(a) A

(b) K

(c) L

(d) O

(e) None of these

] @Reasoningbybasantsir
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There are six personsi.e. A, L, M, K, O and P of different
heights. No two persons have same heights. Only two
persons are shorter than M. A is taller than L. L is not
the shortest. K is taller than L but shorter than A. O is
just taller than P. O is shorter than K.

Who among the following is the shortest among all?
(a) K

(b) P

(c) M

(d) O

(e) None of these
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There are six personsi.e. A, L, M, K, O and P of different
heights. No two persons have same heights. Only two
persons are shorter than M. A is taller than L. L is not
the shortest. K is taller than L but shorter than A. O is
just taller than P. O is shorter than K.

Who among the following is just taller than K?

(a) L

(b) K

(c) A

(d) P

(e) None of these
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In a family of two generations there are six family
membersi.e. X, Y, J, K, Hand Z. J is the sister in law of X.
Y is the husband of X. Z is the son of J. H is the cousin of
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In a family of two generations there are six family
membersi.e. X, Y, J, K, Hand Z. J is the sister in law of X.
Y is the husband of X. Z is the son of J. H is the cousin of
Z. X does not have any siblings. K is the father of Z.

How H is related to Y?

(a) Son

(b) Daughter

(c) Son in Law

(d) Daughter in Law

(e) Cannot be determined
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In a family of two generations there are six family
membersi.e. X, Y, J, K, Hand Z. J is the sister in law of X.
Y is the husband of X. Z is the son of J. H is the cousin of
Z. X does not have any siblings. K is the father of Z.

How is J related to H?

(a) Aunt

(b) Uncle

(c) Son in Law

(d) Daughter in Law

(e) None of these
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Date Okay Done Book Life Work

If the given words are arranged in the alphabetical order
from right to left, which of the following word will be
the fifth from the left end?

afg T a1v eregl A Fuifegswa & q¢ | a0
sgafeyg fFar o, oY REfeEd & @ S @
g §IU SR A/ gradl gem?

(a) Date

(b) Done

(c) Book

(d) Life

(e) Okay

4 @Reasoningbybasantsir
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Date Okay Done Book Life Work

If the given words are arranged in the order as they
appear in a dictionary from left to right, which of the
following will be the second from the right end?

Ifg faT T el Y AsqhY A dI¢ F I FH A
cqafeyd f&am Smar g, ar arafaf@a & & =i
|T S0 B & gEIT {2

(a) Date

(b) Done

(c) Book

(d) Life

(e) Okay
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Date Okay Done Book Life Work

How many letters are there between the first Letter of
first word from left and fourth Letter of the first word
from right as they appear in english alphabet?

A qUiATAT H 90 § Ugd Ase & Tgol IHER
3 T A gg Use & Y 3eW & fiw fhaa
e 2

(a) Two

(b) One

(c) Eight

(d) Six

(e) More than three
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Twelve people are sitting in two rows that are parallel to each
other. In row 1- A, B, C, D, E, and F are sitting facing south.
In row 2- P, Q, R, S, T, and U are sitting facing north. D and
R are not opposite to each other. Three people sit between B
and F, who sits to the right of C. C sits opposite to Q. Four
persons sit between S and T. Two people sit between P and R,
who is not an immediate neighbor of T. Two people sit
between A and C. Q sits second to the right of S.
aﬂg—qﬁﬁa‘rqﬁm‘rﬁ%%wﬁwaﬁ%m% ufw 1 H-
A, B, C, D, E 31 F 2101 Y a1 q@ ek 93 ¥ ufww 2 - P,
Q,R,S, T ﬁiuwﬁaﬁxww%é%%l D aﬁTquaﬁ
¥ Frod T §1 i SR B S F 36 WeT 8% §, WY C 3 2 e
31 C, Q & fradfia Sa1 21 S R T & sftwr R safwe 3 81 P 3R
R o == aY =4t 93 &, St T ot Heheaw u=iet T2t 21 2t safw
I3 T A AR CH il Q, S & A T A FATH W 3T 21
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Twelve people are sitting in two rows that are parallel to each
other. In row 1- A, B, C, D, E, and F are sitting facing south.
In row 2- P, Q, R, S, T, and U are sitting facing north. D and
R are not opposite to each other. Three people sit between B
and F, who sits to the right of C. C sits opposite to Q. Four
persons sit between S and T. Two people sit between P and R,
who iIs not an immediate neighbor of T. Two people sit
between A and C. Q sits second to the right of S.

How many of them sit between F and D?
A. Can’t be determined

B. Two

C. Three

D. One
E. Four
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Twelve people are sitting in two rows that are parallel to each
other. In row 1- A, B, C, D, E, and F are sitting facing south.
In row 2- P, Q, R, S, T, and U are sitting facing north. D and
R are not opposite to each other. Three people sit between B
and F, who sits to the right of C. C sits opposite to Q. Four
persons sit between S and T. Two people sit between P and R,
who is not an immediate neighbor of T. Two people sit
between A and C. Q sits second to the right of S.

Who sits opposite to D?
A. P
B.R
C.T
D.U
E. Can’t be determined
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Twelve people are sitting in two rows that are parallel to each
other. In row 1- A, B, C, D, E, and F are sitting facing south.
In row 2- P, Q, R, S, T, and U are sitting facing north. D and
R are not opposite to each other. Three people sit between B
and F, who sits to the right of C. C sits opposite to Q. Four
persons sit between S and T. Two people sit between P and R,
who is not an immediate neighbor of T. Two people sit
between A and C. Q sits second to the right of S.

Who sits immediate right of S?
A. U

B.P

C.Q

D.R

E. None of these
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@Reasoningbybasantsir

Twelve people are sitting in two rows that are parallel to each
other. In row 1- A, B, C, D, E, and F are sitting facing south.
In row 2- P, Q, R, S, T, and U are sitting facing north. D and
R are not opposite to each other. Three people sit between B
and F, who sits to the right of C. C sits opposite to Q. Four
persons sit between S and T. Two people sit between P and R,
who is not an immediate neighbor of T. Two people sit
between A and C. Q sits second to the right of S.

Find the odd.
A.C
B.B
C.R
D.F
| DA
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Twelve people are sitting in two rows that are parallel to each
other. In row 1- A, B, C, D, E, and F are sitting facing south.
In row 2- P, Q, R, S, T, and U are sitting facing north. D and
R are not opposite to each other. Three people sit between B
and F, who sits to the right of C. C sits opposite to Q. Four
persons sit between S and T. Two people sit between P and R,
who is not an immediate neighbor of T. Two people sit
between A and C. Q sits second to the right of S.

How many of them sit to the left of E?
A. Three

B. Five

C. Four

D. Two

F. None of these
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In a play ground some of players standing. Puneet is 3m
towards south of Qamar who is 4m towards east of
Rohit. Sobhit is 6m towards south of Rohit while Tarun
is 8m towards west of Sobhit. Vinit is 7m towards west
of Umesh who is 3m north of Tarun.

Tt % fTm ¥ Fo Raendt @ § ofe ww @ 3 e
aforor & 3 < Af & 4 Hex o & 3 90re, AR & 6 e
FeTuT <Y TR § TaIfeh q&UT, THIeT & § Hiet ufew i o7
21 forfia, ST @ 7 ditex ufgw v o & Y %o | 3 Hiew
S H B
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In a play ground some of players standing. Puneet is 3m
towards south of Qamar who is 4m towards east of
Rohit. Sobhit is 6m towards south of Rohit while Tarun
is 8m towards west of Sobhit. Vinit is 7m towards west
of Umesh who is 3m north of Tarun.

What is the direction of Umesh with respect to Puneet?
1) South-East

2) East

3) West

4) North-West

S5) None of these
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In a play ground some of players standing. Puneet is 3m
towards south of Qamar who is 4m towards east of
Rohit. Sobhit is 6m towards south of Rohit while Tarun
is 8m towards west of Sunil. Vinit is 7m towards west of
Umesh who is 3m north of Tarun.

What is the shortest distance between Rohit and Tarun?
1) 11m

2) 14m

3) 12m

4) 10m

S5) 13m
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If in the word 'ADVANCE', all the vowels are replaced
with the next letters and all the consonants are replaced
with the previous letters from the English Alphabet.
Now if all vowels are deleted how many consonants are
remain there?

g 7155 'ADVANCE' ¥, T+t TRl st 31Tl 318 ¥ aae
fam ST ¥ iR wft st &y Sis JuiHTer & fUse
AU A dEt 2T ATaT Bl AT TS Ot TR ki ger e
STT A A e 97 78 S 37

1) Three

2) Four

3) Five

4) Six

4@Reasoningbybasantsir 5) Seven
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There are seven persons namely A, B, C, D, E, F, and G. They
all are sitting in a row facing north. G sits second from one of
the ends. E has equal number of persons to his left and right
side. F sits on the extreme left end of the row. There are three
persons between F and B. A sits immediate right of C. A does
not sit at the corner.

A, B, C, D, E, F, 3R G 19 HTd U<k gl 3 T Uk Ufh 0
waﬁaﬁimgﬁwa%%lGﬁﬂﬁwwﬁwwm
T 21 E % a1 ofX arff 1R saferal <t TEaT guiT 81 F ufte
& AT T BRI W TSTE F ARB FAer dia sah 3l A, C
3 T AT Bl A I W T2 AaT 2
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There are seven persons namely A, B, C, D, E, F, and G. They
all are sitting in a row facing north. G sits second from one of
the ends. E has equal number of persons to his left and right
side. F sits on the extreme left end of the row. There are three
persons between F and B. A sits immediate right of C. A does
not sit at the corner.

Who is sitting second to the left of E?

1) A

2) C

3) G

4) F

5) B
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There are seven persons namely A, B, C, D, E, F, and G. They
all are sitting in a row facing north. G sits second from one of
the ends. E has equal number of persons to his left and right
side. F sits on the extreme left end of the row. There are three
persons between F and B. A sits immediate right of C. A does
not sit at the corner.

How many persons are sitting between A and G?

1) Five
2) Two
3) Four
4) Three
5) One
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There are seven persons namely A, B, C, D, E, F, and G. They
all are sitting in a row facing north. G sits second from one of
the ends. E has equal number of persons to his left and right
side. F sits on the extreme left end of the row. There are three
persons between F and B. A sits immediate right of C. A does
not sit at the corner.

Who is sitting third from the right end?

1) D
2) B
3) E
4) A
5) C
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There are seven persons namely A, B, C, D, E, F, and G. They
all are sitting in a row facing north. G sits second from one of
the ends. E has equal number of persons to his left and right
side. F sits on the extreme left end of the row. There are three
persons between F and B. A sits immediate right of C. A does
not sit at the corner.

How many persons are sitting to the left of G?

1) Four
2) Five
3) One
4) Two
S) Three
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There are seven persons namely A, B, C, D, E, F, and G. They
all are sitting in a row facing north. G sits second from one of
the ends. E has equal number of persons to his left and right
side. F sits on the extreme left end of the row. There are three
persons between F and B. A sits immediate right of C. A does
not sit at the corner.

Who is sitting exactly between F and B?

e
2) B
3) D
4) E
5) A
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Statement: Y2 C<OZ2F<R=B

Conclusions: I.B>F
II. R>C

1) Only I follows

2) Only 1I follows

3) Either I or 11 follow
4) Neither I nor II follow
S) Both I and II follow

«7 @Reasoningbybasantsir
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Statement:E<U>L>KST=HSQ

Conclusions: I.U>H
ILTSQ

1) Only I follows

2) Only 11 follows

3) [Either I or II follow
4) Neither I nor II follow
S) Both I and II follow

«7 @Reasoningbybasantsir
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Statement: Y>UZ2Z2K=XSBSA

Conclusions: I.U=X
II.U>X

1) Only I follows

2) Only 11 follows

3) [Either I or II follow
4) Neither I nor II follow
S) Both I and II follow

«7 @Reasoningbybasantsir
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Statement: S>L<P=T 2V>R

Conclusions: I.P>R

1)
)
),
4)
),

I.S>V

Only I follows

Only II follows

Either I or 11 follow
Neither I nor II follow
Both I and 11 follow
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If it is possible to make a meaningful word with the third, fifth, ninth,
and tenth letters of the word “PERSEVERANCE” which of the
following will be the second letter from the right end of that newly
formed word? If more than one such word can be made, give M as the
answer and if no such word can be made, give Y as the answer.

Ife yre2 “PERSEVERANCE” % 1R, Ui, 1 31 S0 7Rl ¥ Ueh
HYUT IT65 TATT WS E, ﬁﬁmﬁf@aﬁﬁaﬁ?mmqﬁaﬁm%
‘q’l‘éra:l?rﬁawr 3T BAIT? FfS 3O Tk ok Teh A ATk o7 o Tehdl &,
A IR H BT H M ¥ 31 afe V6T g 9162 7ot T=T 1 TRl B, a7 W
FEAHY T

1)
2)
R))
4)
5)

= 2R <>
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Eight persons A, B, C, D, E, F, G, and H's experiences after
joining a bank from different years i.e. 1982, 1983, 1992, 1996,
1997, 2004, 2006, 2013 (not necessarily in the same order) are
calculated on the base year 2022. D's experience is calculated
from an odd numbered year but not from 1997. The difference
between A and D is 9 years. G's has worked for the time which is
multiple of 13 but not a multiple of 3. The difference between H
and F is more than the difference between A and D but less than
11 years. B has worked for perfect square number years. C
joined after F but before A. F did not join first

HATS ATE A, B, C, D, E, F, G 3T H o THS FTT-3Te1T I
YT 1982, 1983, 1992, 1996, 1997, 2004, 2006, 2013 (STEH T&T
TR 3HT A | B1) | Uk Sk | MW 21 ok 91 AT a9 2022 WX
TUTT T ATAT 1 D o TTHS <hl TUHT Teh foree Heeam o a9 &
T ATAT 2, AThT 1997 A1l A TRD F AT RTIARNIAT RN G A
IU YHT Tk 1A FRAT & ST 13 ST I[UTS § TR 3 1 0TS T8t ¢l
H 371X F o S T 37X A 3R D oh &1l oh 3{a¥ § 3T1eleh § AAfehd
11 9§ & &7 1 B = UUT S SEAT AT qeh A (haT gl C, F 6 A8
TR A | UEH SITHET gl F Ugel ITHS 8 gt
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Live Quiz

«7 @Reasoningbybasantsir

Eight persons A, B, C, D, E, F, G, and H's experiences after
joining a bank from different years i.e. 1982, 1983, 1992, 1996,
1997, 2004, 2006, 2013 (not necessarily in the same order) are
calculated on the base year 2022. D's experience is calculated
from an odd numbered year but not from 1997. The difference
between A and D is 9 years. G's has worked for the time which is
multiple of 13 but not a multiple of 3. The difference between H
and F is more than the difference between A and D but less than
11 years. B has worked for perfect square number years. C
joined after F but before A. F did not join first

H's experience is calculated from the year ?

1) 1997
2) 1992
3) 1982
4) 2013
5) 2004
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Live Quiz

@Reasoningbybasantsir

Eight persons A, B, C, D, E, F, G, and H's experiences after
joining a bank from different years i.e. 1982, 1983, 1992, 1996,
1997, 2004, 2006, 2013 (not necessarily in the same order) are
calculated on the base year 2022. D's experience is calculated
from an odd numbered year but not from 1997. The difference
between A and D is 9 years. G's has worked for the time which is
multiple of 13 but not a multiple of 3. The difference between H
and F is more than the difference between A and D but less than
11 years. B has worked for perfect square number years. C
joined after F but before A. F did not join first

As many people joined before G as after  ?

A
2) D
3)F
4) C
5)H
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Live Quiz

@Reasoningbybasantsir

Eight persons A, B, C, D, E, F, G, and H's experiences after
joining a bank from different years i.e. 1982, 1983, 1992, 1996,
1997, 2004, 2006, 2013 (not necessarily in the same order) are
calculated on the base year 2022. D's experience is calculated
from an odd numbered year but not from 1997. The difference
between A and D is 9 years. G's has worked for the time which is
multiple of 13 but not a multiple of 3. The difference between H
and F is more than the difference between A and D but less than
11 years. B has worked for perfect square number years. C
joined after F but before A. F did not join first

How many People Joined after B?

1)2
2) 4
)R
41
S5) None
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Live Quiz

@Reasoningbybasantsir

Eight persons A, B, C, D, E, F, G, and H's experiences after
joining a bank from different years i.e. 1982, 1983, 1992, 1996,
1997, 2004, 2006, 2013 (not necessarily in the same order) are
calculated on the base year 2022. D's experience is calculated
from an odd numbered year but not from 1997. The difference
between A and D is 9 years. G's has worked for the time which is
multiple of 13 but not a multiple of 3. The difference between H
and F is more than the difference between A and D but less than
11 years. B has worked for perfect square number years. C
joined after F but before A. F did not join first

Find the odd one out.

) H
2) F
3) D
4) B
5) G
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Seven persons are working in the same company on different
designations. The person working on that designation is named
P,Q,R,S, T, U, and V but not necessarily in the same order.
They have different designations starting from the clerk, officer,
Assistant Manager, manager, Assistant General manager,
General manager, and Director. Director is the topmost post of
the company and the clerk is the lowermost post of the
company. Only four persons sit between P and Q. P is not
working at a position of officer nor as a clerk. There are two
designations between R and S. R is senior to S. R is a General
manager or Director. More than two designations are there
between T and U. U is working as a designation of clerk in the
company.
m—qﬁswﬁmﬁ%ﬁmqﬁmmwﬁ wqﬁm
HTH FE ITA IR RTAE P, Q, R, S, T, U 3T
T&*Tﬁﬁs!:ﬁsmrfr%‘rl mw amu‘q'%ﬁzs mmﬁ?g
Teieleh, T8Tdeh HETUseh, HgTIa e I fHavTeh 2
asqﬁ’ramua’i?u'q'% 31T ToTTUeh ShUt T T8 (et e 21 P
I Q%srrszrém?fr%rr{—qﬁs%l P aﬁwﬁ%ww I TE
%ﬁzs mﬁww%maﬁ?s zra‘r FIR, S TR

3t U o v 21 1 i
R Er e o i
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Live Quiz

@Reasoningbybasantsir

Seven persons are working in the same company on different
designations. The person working on that designation is named
P,Q,R,S, T, U, and V but not necessarily in the same order.
They have different designations starting from the clerk, officer,
Assistant Manager, manager, Assistant General manager,
General manager, and Director. Director is the topmost post of
the company and the clerk is the lowermost post of the
company. Only four persons sit between P and Q. P is not
working at a position of officer nor as a clerk. There are two
designations between R and S. R is senior to S. R is a General
manager or Director. More than two designations are there
between T and U. U is working as a designation of clerk in the
company.

Which of the following person working as a Officer?

)P
2)Q
3)R
4)S
5) V
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Live Quiz

«7 @Reasoningbybasantsir

Seven persons are working in the same company on different
designations. The person working on that designation is named
P,Q,R,S, T, U, and V but not necessarily in the same order.
They have different designations starting from the clerk, officer,
Assistant Manager, manager, Assistant General manager,
General manager, and Director. Director is the topmost post of
the company and the clerk is the lowermost post of the
company. Only four persons sit between P and Q. P is not
working at a position of officer nor as a clerk. There are two
designations between R and S. R is senior to S. R is a General
manager or Director. More than two designations are there
between T and U. U is working as a designation of clerk in the
company.

Whose designation is just above the S's designation?

1) Manager

2) Officer

)V

4) Both Options 2 and 3
S) Both options 1 and 3



1

Live Quiz
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Seven persons are working in the same company on different
designations. The person working on that designation is named
P,Q,R,S, T, U, and V but not necessarily in the same order.
They have different designations starting from the clerk, officer,
Assistant Manager, manager, Assistant General manager,
General manager, and Director. Director is the topmost post of
the company and the clerk is the lowermost post of the
company. Only four persons sit between P and Q. P is not
working at a position of officer nor as a clerk. There are two
designations between R and S. R is senior to S. R is a General
manager or Director. More than two designations are there
between T and U. U is working as a designation of clerk in the
company.

How many designation between P and V?

1) One

2) Three

3) More than three
4) Two

S) None of the above



Live Quiz ]

Which of the following statement is correct regarding
v?

I) V is a manager.

II) The position which is just above V is T's position.
III) Two designation between P and V.

1) Only statement I is correct.
2) Only statement II is correct.
3) Only statement III is correct.
4) All are correct.

S) All are incorrect.

“Z @Reasoningbybasantsir



Live Quiz
' Input: 56148 541683 63215 52197

Step 1: 14568 13459 13468 12356 12579
Step I1: 1158 1129 1138 1106 1149
Step I11: 0048 0028 0028 0006 0048
Step IV: 1210 10 06 12

Step V: 061010 12 12

Step VI: 036 10 10 14 14

Input: 43156 92146 81247 53179 69432 47269

«7 @Reasoningbybasantsir



«7 @Reasoningbybasantsir

Input: 56148 3_4145 41683 63215 52197
Step 1: 14568 13459 13468 12356 12579
Step I1: 1158 1129 1138 1106 1149
Step I11: 0048 0028 0028 0006 0048
Step IV: 1210 10 06 12

Step V: 061010 12 12

Step VI: 036 10 10 14 14

Input: 43156 92146 81247 53179 69432 47269

In the last step, which number is 3rd from the right
end of the given input?

a) 41
b) 16
¢) 14
d) 18
e) None of these
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Input: 56148 3_4145 41683 63215 52197
Step 1: 14568 13459 13468 12356 12579
Step I1: 1158 1129 1138 1106 1149
Step I11: 0048 0028 0028 0006 0048
Step IV: 1210 10 06 12

Step V: 061010 12 12

Step VI: 036 10 10 14 14

Input: 43156 92146 81247 53179 69432 47269

What is the sum of last three numbers in step IV of
the given input?

a) 30
b) 58
c) 46
d) 40
e) None of these
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Input: 56148 3_4145 41683 63215 52197
Step 1: 14568 13459 13468 12356 12579
Step I1: 1158 1129 1138 1106 1149
Step I11: 0048 0028 0028 0006 0048
Step IV: 1210 10 06 12

Step V: 061010 12 12

Step VI: 036 10 10 14 14

Input: 43156 92146 81247 53179 69432 47269

Which number is 4th from the left end in step II of the
given input?

a) 1129
b) 1159
¢) 1126
d) 2936
e) None of these
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Input: 56148 3_4145 41683 63215 52197
Step 1: 14568 13459 13468 12356 12579
Step I1: 1158 1129 1138 1106 1149
Step I11: 0048 0028 0028 0006 0048
Step IV: 1210 10 06 12

Step V: 061010 12 12

Step VI: 036 10 10 14 14

Input: 43156 92146 81247 53179 69432 47269

What is the absolute difference of the 3rd number

from right end in step III and 2nd number from the left
end in step I11?

a) 37

b) 26

¢) 25

d) 20

e) None of these
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Input: 56148 3_4145 41683 63215 52197
Step 1: 14568 13459 13468 12356 12579
Step I1: 1158 1129 1138 1106 1149
Step I11: 0048 0028 0028 0006 0048
Step IV: 1210 10 06 12

Step V: 061010 12 12

Step VI: 036 10 10 14 14

Input: 43156 92146 81247 53179 69432 47269

Which among the following is the first number from
left end in step IV of the given input?

a) 08

b) 10

¢) 16

d) 18

e) None of these
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